
	

Continue

https://feedproxy.google.com/~r/skout/mBVl/~3/GLLx1DTH0VQ/uplcv?utm_term=linear+equations+worksheet+for+class+6


Linear	equations	worksheet	for	class	6

Mathematics	/	simple	linear	equations	thousands	of	students	are	using	Learnhive	to	master	concepts	and	go	ahead	at	school	with	our	free	content.	Sign	up	to	get	individualized	lessons	and	exercises.	I	downloaded	sheets	for	my	sheets	for	my	kids	since	the	education	started	and	I	must	say	that	I	have	never	found	a	site	so	good	where	she	generates
sheets	on	a	series	of	topics	so	well	within	a	vote.	Hat	to	the	whole	team.	Edugar	a	very	happy	user.	Priya	kishore,	parents,	UAE	Your	website	is	surprising	for	parents	who	want	to	push	their	children	a	little	more	than	school	would	have	and	do	this	with	interesting	and	miscellaneous	problems.	We	found	your	website	amazing	and	unique	because	it
offers	a	variety	of	interesting	problems	that	continue	to	change.	We	also	downloaded	Android	apps	and	we	like	it	as	well.	Dr.	Mihaela	Duta,	Parents,	Technical	Manager,	University	of	Oxford,	Oxford	Thanks	Edugaain	for	the	creation	of	this	site	and	gave	me	the	advantage!	In	IMO	Level	1,	I	insured	international	rank	3	and	level	2,	I	insured
international	rank	4!	I	had	the	honor	with	the	trophy	and	money!	During	the	awards	ceremony	I	said	about	your	website	and	as	awesome	is	!!!!!!!!	THANK	YOU	VERY	MUCH!	Anoushka,	Student,	India	ã,	Â	©	2010-2021	Class-8	Sheet:	ICSE	Mathematics	Worksheet	-	6	Topic:	Linear	Equations	for	OtherÃ	¢	ICSE	Worksheet	For	Class	8	Mathematica
Check	Out	Entrance	Main	Page.	Summary:	Standard	form	of	linear	equations:	Standard	form	refers	to	all	positive	coefficients.	A1X	+	B1Y	+	C1Z	=	0	...	(i)	A2X	+	B2Y	+	C2Z	=	0	...	(ii)	To	solve	these	equations,	we	have	three	different	methods.	(I)	elimination	for	replacement	(ii)	elimination	Equalizing	the	coefficients	(iii)	elimination	from	the	cross
multiplication	exercise:	1)	A	number	of	two	digits	is	this	product	of	its	figures	is	18.	When	63	is	subtracted	from	the	number,	interchange	figures	their	place.	Find	the	number.	2)	The	sum	of	the	two	numbers	is	2490.	If	6.5%	of	a	number	is	8.5%	of	others,	find	the	numbers.	3)	RS.	9000	was	divided	equally	between	a	number	of	people.	If	there	had	been
more	than	20	people,	every	would	get	RS.	160	minus.	Then	find	the	original	no.	of	people.	4)	A	and	B	each	has	a	number	of	mangoes.	A	tells	B,	to	whether	you	will	give	30	of	your	mangoes	you	will	have	twice	as	long	as	you	left	with	you.a	find	how	many	mangoes	did	each	one.	5)	For	which	value	of	K,	the	system	of	linear	equations	2x	+	KY	=	1;	3x	5Y
=	7	has	a	single	solution:	a)	k	Ã	¢	-	10/3	b)	ka	10/3	c)	k	Ã	¢	-335	d)	k	=	-	10/3	6)	solve	x	and	y:	7	/	3x	-6	/	2Y	=	15;	8	/	3x	=	9	/	2Y.	a)	-3,	-2	b)	-2,	-3	c)	-	1/2,	-	1/3	d)	-	1/3,	-	1/2	7)	sum	of	two	numbers	is	35;	The	difference	is	13.Find	the	numbers	a)	23,	12	b)	24,	11	c)	23,	10	d)	22	9	8)	The	figure	in	a	tena	s	place	of	non-figures.	It	is	three	times	higher	than
the	one	in	act	the	OneÃ	¢	s.	If	the	figures	are	inverted,	the	new	number	will	be	36	lower	than	the	original	number.	Find	the	number.	a)	64	b)	52	c)	62	d)	42	9)	denominator	of	a	rational	number	is	4	lower	than	the	numerator.	If	11	is	added	to	the	numerator	and	1	is	subtracted	from	the	denominator	the	new	number	Becomes7	/	3.	finds	the	rational
number.	a)	23/27	b)	27/23	c)	​​Â	13/17	d)	17/13	10)	The	sum	of	the	current	ages	of	the	father	and	the	son	of	him	is	60	years	old.	6	years	ago,	FatherÃ	¢	s	etã	was	five	times	the	son	of	him.	After	six	years	of	age	sona	s	will	be:	a)	20	years	b)	14years	c)	12	years	d)	18	years	solutions:	to	worksheet-6	topic-linear	of	equations	ã,	1)	92	2)	=	x	1411,	y	=	1079	3)
25	4)	a	=	34,	b	=	62	5)	(a)	6)	(b)	7)	(b)	8)	(c)	9)	(d)	10)	(a)	Welcome	to	the	world	of	mathematics	1.	The	number	of	guys	in	a	class	is	4	times	the	number	of	girls.	Which	of	the	following	can	be	the	total	number	of	class	students?	a)	17a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã	Ã,	Ã,	Ã,	Ã,	b)	45	c)	52a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	ã,	d)	56	2.	If	Fives	times	a	number	is	75,	then	the	number	is	_____.	a)	10ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã,	ã,	b)	12	c)	14a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	d)	15	3.	The	equation	for	the	'One	third	of	a	number	added	to	25	is	60'	is	__________.	a)	PA	3	+	60	=	25	b)	PA	2	+	40	=	25	c)	PA	3	+	25	=	60	d)
None	of	these	4.	value	of	'x'	in	15	(xa	2	Ã	¢	40)	+	5	=	5	Ã	equal	to	_____.	a)	80A	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	b	)	70	c)	60Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	d)	50	5.	When	John	multiply	a	certain	number	of	25	and	adds	75	to	the	product,	gets	600.	Find	the	number.	a)	20Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	b)	21	c)	18ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	d	)	19	6.	PA	3	=	20Ã	¢	3,	find	the	value	of	'p'.	a)	25ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	b)	24	c)	20Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	d	)	None	of	these	7.	The	width	of	a	rectangle	is	'n'	cm	and	the	length
is	4	times	that	of	width.	What	is	the	perimeter	of	the	rectangle?	a)	2	(n	+	b)	cma	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	b)	10n	cm	c)	12n	cma	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	ã,	d)	25	+	n	cm	8.	which	of	the	following	equation	is	y	=	4	as	a	solution?	a)	y	+	2	=	7ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã	Ã,	b)	y
a	2	=	6	c)	y	+	2	=	6ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	d)	y	+	3	=	10	9.	Which	of	the	following	equations	do	not	have	a	solution	in	whole	numbers?	a)	p	+	1	=	2a	to	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	b)	p	Ã	¢	5	=	8	c)	1	Ã	¢	p	=	5ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	Ã,	Ã,	Ã,	d)	2p	+	2	=	3	10.	Julie
obtained	75	points	in	the	math	test.	Lei	friend	of	her	bobby	of	her	obtained	brands'	ply	more	than	herself.	How	many	points	do	you	get	completely?	a)	75pã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	ã,	ã,	b)	150	+	PC)	85pÃ,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	d)	150	Ã	¢	P	11.	If	2AA	3	+	5	=	15,	then	the	value	of	'a'	is	_____.
a)	15a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	b)	15	c)	20a	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	d)	None	of	these	12.	Mark	has	had	'	x	'apples.	He	used	5	apples	to	prepare	apple	pie	and	gave	7	apples	to	him	friend	of	him.	Number	of	left	apples	with	him	is	__________.	a)	x	5a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,
b)	x	10	c)	x	7a	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	d)	xa	12	13.	power	of	a	variable	in	a	linear	equation	Ã	¨	_____.	a)	0	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	ã,	b)	1	c)	2a	to	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	d)	3	14.	A	symbol	that	can	be	Given	different	numeric	values,	it	is	called	variable.	True	Mark	/	False.	a)
TRUEÃ,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	b)	false	15.	a	Symbol	that	has	a	fixed	value	is	known	as	literals.	True	Mark	/	False.	a)	Trueã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	b)	fake	if	you	want	to	download	The	above	worksheet,	please	click	below.	Linear-equation-2Download	The	PDF	Linear-equations-worksheet	-	1
linear-equations-worksheet	-	2	linear-equations-worksheet	-	3	layer	linear-equation-answerdownload	the	PDF	copyright	Â	Â	©	2021	LetsPlaymaths.	com.	All	rights	reserved.	NECT	solutions	for	class	6	math	Chapter	9	linear	equation	in	a	variable	are	supplied	here	with	simple	step-by-step	explanations.	These	linear	solutions	an	equation	in	a	variable
are	extremely	popular	between	class	6	students	for	linear	mathematics	an	equation	in	a	variable	solutions	to	come	back	useful	to	quickly	complete	your	work	and	preparation	for	exams.	Any	questions	and	answers	from	the	necert	book	of	class	6	math	chapter	9	are	scheduled	for	you	for	free.	You	will	also	love	the	experience	without	announcements	on
Meritnation's	necert	solutions.	All	NCCT	solutions	for	Class	6	Math	class	are	prepared	by	experts	and	are	100%	accurate.	Write	each	of	the	following	statements	as	an	equation:	(i)	5	times	an	equal	number	40.	(ii)	an	increased	number	of	8	is	equal	to	15.	(iii)	25	exceeds	a	number	from	7.	(iv)	a	higher	number	5	from	3.	(v)	5	Subtracted	by	Thriceã,	a
number	is	16.	(VI)	If	12	is	removed	from	a	number,	the	result	is	24.	(VII)	twice	a	subtracted	number	19	is	11.	(VIII)	a	number	Divided	8	dÃ	7.	(IX)	3	At	4	times	a	number	is	17.	(x)	6	times	a	number	is	5	more	than	the	number.	(I)	Leave	the	number	requested	either.	Therefore,	five	times	the	number	will	be	5x.	Ã,	Ã,	5x	=	40	40	Let	the	number	requested
is	X.	Ã,	Ã,	Ã,	ã,	so,	when	8	is	increased,	we	obtain	x	+	8.	a	a	a	'x	+	8	=	15	(iii)	is	the	number	requested	and	x.	Ã,	Ã,	Ã,	ã,	so,	when	25	exceeds	the	number,	we	get	25	-	x.	Ã,	'25	-	xa	=	7	(iv)	both	the	requested	number	and	x.	Ã,	Ã,	Ã,	so,	when	the	number	is	greater	than	5,	you	get	X	-	5.	Ã,	Ã,	Ã,	Ã,	'x	-	5ã,	=	3	(v)	both	the	requested	number	and	x.	Ã,	Ã,	is,
therefore,	three	times	the	number	will	be	3x.	Ã,	Ã,	ã,	3x	-	5	=	16	(vi)	We	give	the	number	requested	e	x.	Ã,	Ã,	Ã,	is	therefore,	therefore,	12	subtracted	the	number	will	be	x	-	12.	Ã,	Ã,	Ã,	ã,	'x	-	12	=	24	(vii)	let	the	number	requested	is	x.	Ã,	Ã,	is,	therefore,	twice	the	number	of	2x.	Ã,	Ã,	Ã,	Ã,	19	-	2x	=	11	(viii)	Let	the	number	requested	is	X.	Ã,	is,	is
therefore	the	number	when	divided	by	8	will	be	X8.	Ã,	Ã,	Ã,	'x8	=	7	(ix)	is	the	requested	number	and	x.	Ã,	Ã,	Ã,	is	therefore	four	times	the	number	4x	will	be.	Ã,	Ã,	4x	-	3	=	17	(x)	is	the	number	requested	and	x.	Ã,	Ã,	Ã,	is,	therefore,	6	times	the	number	will	be	6x.	Ã,	Ã,	Ã,	Ã,	ã,	'6x	=	x	+	5	page	#	140:	write	a	statement	for	each	of	the	equations,	shown
below:	(i)	x	7	=	14	(ii)	2y	=	18	(iii)	11	+	3x	=	17	(iv)	2	to	3	=	13	(v)	12y	Ã	¢	30	=	6	(vi)	2Z3	=	8	(i)	7	less	than	number	X	is	equal	to	14.	(ii)	twice	the	number	y	=	18.	(iii)	plus	11	of	three	times	the	number	X	is	equal	to	17.	(iv)	3	lower	than	twice	the	number	X	is	equal	to	13.	(v)	30	less	12	times	the	number	y	is	equal	to	6	.	(VI)	When	the	double	number	Z
is	divided	by	3,	it	is	equal	to	8.	Page	No.	140:	check	for	replacement	that	(i)	the	root	of	3x	to	5	=	7	is	x	=	4	(ii)	the	root	of	3	+	2x	=	9	is	x	=	3	(iii)	the	root	of	5x	to	8	=	2x	a	2	is	x	=	2	(iv)	the	root	of	8	Ã	¢	7y	=	1	is	y	=	1	(v	)	The	root	of	the	Z7	=	8	is	Z	=	56	(i)	Ã,	Ã,	-ã,	3xa	5ã,	=	Ã,	7Substituting,	XA	=	equation	Ã,	Ã,	4ã,	INA	THA	GIVENÃ	,:	LHSÃ	¢:	3a	4ã,
-5or,	12a	-ã,	5ã,	=	7a	=	Ã,	RhslhsÃ,	=	Ã,	RHSA	then,	Ã,	Ã,	ã,	xa	=	4ã,	Isa	Thea	Thea	Roota	Ofa	GivenÃ,	equation.ã,	(ii)	ã,	ã,	Ã,	ã,	3a	+	2x	=	Ã,	9substitenting,	xa	=	3a	ina	thea	givenÃ,	equation:	lhsÃ	¢:	3a	+	ã,	2a	3o,	ã,	3a	+	6a	=	9a	=	ã,	rhsa	lhsÃ,	=	Ã,	rhsa	then,	ã,	ã,	xa	=	3a	ISA	Thea	Thea	Roota	Ofa	GivenÃ,	equation.ã,	(iii)	Ã,	Ã,	Ã,	-ã,	5xa	8ã,	=	ã,	2xa
2a	substituting,	xa	=	2a	ina	thea	givenÃ,	equation:	lhsÃ	¢:	Ã,	ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	rhsa:	5a	2-ã,	8ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	=	2a	2-2or,	ã,	10ã,	-ã,	8ã,	=	2a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	=	4ã,	2a	=	2a
Ã,	Ã,	ã,	Ã,	Ã,	=	lhsÃ,	rhsa	then,	ã,	xa	=	2a	a	isa	thea	thea	roota	ofa	givenÃ,	equation.ã,	(iv)	Ã,	Ã,	Ã,	ã,	-ã,	8ã,	7ya	=	ã,	1ã,	Substituting	,	Ya	=	equation	Ã,	1ã,	ã,	ina	thea	givená	,:	lhsÃ	¢:	ã,	8ã,	-7a	1o,	ã,	8ã,	-ã,	7ã,	=	ã,	1ã,	Ã,	=	RHSA	LHSÃ,	=	Ã,	RHSA	Thus,	Ã,	Ya	=	1ã,	Isa	Thea	Thea	Roota	Ofa	GivenÃ,	equation.ã,	(v)	Ã,	Ã,	Ã,	Ã,	Ã,	=	z7Ã,	8ã,	substituting,
za	=	ã,	56a	ina	thea	givená,	Equation:	LHSÃ	¢:	Ã,	567Ã,	=	Ã,	8ã,	=	RHSLHSÃ,	=	Ã,	RHSA	Thus,	Ã,	za	=	equation	56a	ISA	Thea	Thea	Roota	Ofa	GivenÃ	,.	Page	No.	140:	solve	each	of	the	following	equations	with	the	test	method	and	error:	(i)	y	+	9	=	13	(ii)	x	7	=	10	(iii)	4x	=	28	(iv)	3y	=	36	(v)	11	+	x	=	19	(vi)	x3	=	4	(vii)	2	to	3	=	9	(viii)	12xÃ,	+	7a	=	ã,
11	(ix)	2y	+	4	=	3y	(x)	za	3	=	2z	Ã	¢	5	(i)	y	+	9	=	13	Ã,	Ã,	ã,	we	are	looking	for	different	values	​​of	y	up	to	the	thea	lhs	equal	to	the	rhs	Ã,	Ã,	Ã,	ã,	y	l.h.s.	Ã,	Ã,	r.h.s.	Ã	LHS	=	RHS?	Ã,	1	1	+	9	=	10	13	N	2	2	+	9	=	11	13	N.	3	3	+	9	=	12	13	N.	4	4	+	9	=	13	13	YES	A	'Y	=	4	(II)	x	7	=	10	We	look	for	Different	X	values	​​up	to	Thea	LHS	equal	to	RHS	Ã,	Ã,	ã,	x
l.h.s.	Ã,	Ã,	r.h.s.	Is	L.h.s.	=	R.h.s.?	Ã,	10	10	A	7	=	3	10	N.	11	11	A	7	=	4	10	N.	12	12	A	7	=	5	10	N.	13	13	to	7	=	6	10	N.	14	14	to	7	=	7	10	No	15	15	A	7	=	8	10	No	16	16	to	7	=	9	10	No	17	17	to	7	=	10	10	Yes	A	'X	=	17	(III)	4x	=	28	Ã,	Ã,	Ã,	Ã,	We	are	looking	for	different	values	​​of	X	up	to	get	Thea	LHS	equal	to	the	RHS	Ã,	Ã,	ã,	x	l.h.s.	Ã,	Ã,	r.h.s.	Is	L.h.s.
=	R.h.s.?	Ã,	1	4	Ãƒ	1	=	4	28	N.	2	4	A	2	=	8	28	N.	3	4	A	3	=	12	28	N.	4	4	4	=	16	28	N.	5	4	Ãƒ	5	=	20	28	N.	6	4	Ãƒ	6	=	24	28	no	7	4	to	7	=	28	28	yes	a	'x	=	7	(iv)	3y	=	36	Ã,	ã,	ã,	we	are	looking	for	different	X	until	you	get	L.H.S.	equal	to	R.H.S.	Ã,	y	ã,	ã,	l.h.s.	Ã,	Ã,	r.h.s.	Is	L.h.s.	=	R.h.s.?	Ã,	6	3	Ãƒ	6	=	18	36	No.	7	3	7	=	21	36	No.	8	3	Ãƒ	8	=	24	36	N.	9	3	Ãƒ	9
=	27	36	N.	10	3	to	10	=	30	36	No.	11	3	Ãƒ	11	=	33	36	12	no	3	to	12	=	36	36	yes	to	'y	=	12	a	(v)	11	+	x	=	19	Ã,	Ã,	Ã,	ã,	we	look	for	different	values	​​of	x	until	we	get	the	lhs	equal	to	the	RHS	Ã,	Ã,	ã,	x	l.h.s.	Ã,	Ã,	r.h.s.	Is	L.h.s.	=	R.h.s.?	Ã,	1	11	+	1	=	12	19	n	2	11	+	2	=	13	19	#	3	11	+	3	=	14	19	#	4	11	+	4	=	15	19	#	5	11	+	5	=	16	19	#	6	11	+	6	=	17	19
N.	7	11	+	7	=	18	19	No	8	11	+	8	=	19	19	yes,	Ã,	Ã,	ã,	'x	=	8	(vi)	x3a	=	ã,	4	Ã,	Ã,	ã,	from	rhs	ã	¨	Netherlands	so	LHS	It	must	also	be	a	natural	number.	So,	X	must	be	a	multiple	of	3.	Ã,	Ã,	ã,	x	l.h.s.	Ã,	Ã,	r.h.s.	Is	L.h.s.	=	R.h.s.?	3	33	=	1	4	#	6	63	2	=	4	#	9	93	=	3	4	#	12	123	=	4	4	yes	to	'x	=	12	(vii)	2	to	3	=	9	ã,	ã,	we	look	for	different	values	​​of	X	Up	to
get	the	LHS	equal	to	the	RHS	Ã,	Ã,	ã,	x	l.h.s.	Ã,	Ã,	r.h.s.	Is	L.h.s.	=	R.h.s.?	Ã,	1	2	to	1	to	3	=	at	1	9	n	2	2	to	2	to	3	=	1	9	N.	3	2	to	3	to	3	=	3	9	N.	4	2	to	4	A	3	=	5	9	No	5	2	to	5	a	3	=	7	9	N.	6	2	to	6	A	3	=	9	9	Yes	AA	A'A	X	=	6	(VIII)	12xÃ,	+	7a	=	Ã,	11	Ã,	Ã,	Ã,	Ã,	since,	RHS	is	a	Number	of	natural	number	so	LHS	There	must	therefore	be	a	natural	number,
we	will	make	values	​​if	x	are	multiples	of	'x'	Ã,	Ã,	ã,	x	l.h.s.	Ã,	Ã,	r.h.s.	Is	L.h.s.	=	R.h.s.?	2	2/2	+	7	=	8	11	No	4	4/2	+	7	=	9	11	N.	6	6/2	+	7	=	10	11	No	8	8/2	+	7	=	11	11	yes,	Ã,	Ã,	Ã,	'	x	=	8	(ix)	2y	+	4	=	3Y	Ã,	Ã,	Ã,	Ã,	ã,	we	are	looking	for	different	values	​​of	y	up	to	arriving	LHS	equal	to	the	rhs	Ã,	y	ã,	ã,	l.h.s.	Ã,	Ã,	r.h.s.	Is	L.h.s.	=	R.h.s.?	1	2	to	1	+	4	=	6
3	to	1	=	3	n	2	2	to	2	+	4	=	8	3	to	2	=	6	#	3	2	to	3	+	4	=	10	3	to	3	=	9	N.	4	2	to	4	+	4	=	12	3	to	4	=	12	yes	aaa	'y	=	4	(x)	za	3	=	2z	a	5	to	seek	different	z	values	​​until	we	get	the	lhs	equal	to	the	rhs	Ã,	z	l.h.s.	Ã,	Ã,	r.h.s.	Is	L.h.s.	=	R.h.s.?	1	1	to	3	=	A	2	2	to	1	to	5	=	A	3	No	2	2	to	3	=	A	1	2	to	2	to	5	=	A	1	Yes	Ã	¢	'Z	=	2	Page	No.	143:	resolve	each	of	the
following	equations	e	Check	the	answer	in	any	case:	x	+	5	=	12	ã,	x	+	5	=	12	5	Subtracting	from	both	sides:	Ã	¢	x	+	5	Ã	¢	5	=	12	5a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	x	=	7	verification:	replacing	x	=	7	in	the	lhs:	Ã	¢	7	+	5	=	12	=	RHS	LHS	=	R.H.S.	Then	verified.	Page	No.	143:	resolve	each	of	the	following	equations	and	check	the	answer	in	any
case:	x	+	3	=	a	2	to	x	+	3	=	a	2	subtracting	3	on	both	sides:	ax	+	3	to	3	=	at	2	to	3	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	x	=	Ã	¢	5	verification:	replacing	x	=	Ã	¢	5	in	the	lhs:	a	5	+	3	=	a	2	=	rhs	lhs	=	R.H.S.	Then	verified.	Page	No.	143:	Solving	each	of	the	following	equations	and	check	the	answer	in	each	case:	XA	to	7	=	6	Ã,	x	7	=	6	Add	7	on	both	sides:	Ã	¢
xa	Ã	¢	7	+	7	=	6	+	7	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	x	=	13	verification:	replacing	x	=	13	in	the	lhs:	Ã	¢	13	to	7	=	6	ã,	=	RHS	LHS	=	R.H.S.	Then	verified.	Page	No.	143:	resolve	each	of	the	following	equations	and	check	the	answer	in	any	case:	XA	to	2	=	to	5	to	x	to	2	=	to	5	add	2	on	both	sides:	Ã,	ã,	xa	2	+	2	=	a	5	+	2	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	x	=	a	3	verification:	replacing	x	=	a	3	in	the	lhs:	Ã,	ã,	at	3	to	2	=	a	=	5	rhs	Lhs	=	R.H.S.	Then	verified.	Page	No.	143:	resolve	each	of	the	following	equations	and	verify	the	answer	in	any	case:	3xa	to	5	=	13	3x	to	5	=	13	Ã	¢	3x	to	5	+	5	=	13	+	5	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	ã,	[add	5	on	both	sides]	Ã	¢	3x	=	18	Ã	¢	3x3ã,	=	Ã,	183a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	is	[dividing	both	sides	from	3]	Ã	¢	x	=	6	verification:	replacing	x	=	6	in	the	lhs:	aaa	3	to	6	to	5	=	18	Â	±	5	=	13	=	RHS	LHS	=	R.H.S.	Then	verified.	Page	No.	143:	solve	each	of	the	following	equations	and	check	the	answer	in	any	case:	4x	+	7	=	15	4x	+	7	=	15	to	4x	+	7	to	7	=	15	7a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	[subtracting	7
on	both	sides]	Ã	¢	4x	=	8	Ã	¢	4x4ã,	=	ã,	84a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[division	is	the	sides	of	4]	Ã	¢	x	=	2	Replacing	x	=	2	in	L.h.s.:	Ã	¢	Ã,	4a	2	+	7	=	8	+	7	=	15	=	r.h.s.	L.H.S.	=	R.H.S.	Then	verified.	Page	No.	143:	resolve	each	of	the	following	equations	and	check	the	answer	in	any	case:	x5	=	12	=	x5a	to	12	a	x5a
5ã,	Ã,	Ã,	=	12a	5ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is	[	Multiply	both	sides	from	5]	Ã	¢	x	=	60	Verification:	replacing	x	=	60	in	the	LHS:	Ã	¢	605	=	12	=	RHS	Ã,	LHS	=	R.H.S.	Then	verified.	Page	No.	143:	Solving	each	of	the	following	equations	and	check	the	answer	in	any	case:	3x5	=	15	Ã,	Ã,	Ã,	Ã,	Ã,
3x5ã,	=	15	at	3x5Ãƒ	5th	a	=	at	15ã,	Ã,	Ã,	ã,	Ã,	Ã,	5ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[multiply	both	sides	from	5]	Ã	¢	3x	=	75	Ã	¢	3x3ã,	=	Ã,	753	x	Ã	¢	=	25	verification:	replacing	x	=	25	in	the	lhs:	3a	Ãƒ	Ã,	255	=	15	=	RHS	Ã,	LHS	=	R.H.S.	Then	verified.	Page	No.	143:	resolve	each	of	the	following	equations
and	check	the	answer	in	any	case:	5xa	to	3	=	x	+	17	5xa	to	3	=	x	+	17	Ã	¢	5xa	ax	=	17	+	3ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[transposition	x	of	the	lhs	and	3	to	rhs]	Ã	¢	4x	=	20	a	=	4x4ã,	ã,	204a	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[dividing	both	sides	from	4]	Ã	¢	x	=	5	Verification:	replacing	x	=	5	on	both	sides:	LHS:
Ã,	5	(5)	to	3	to	25	to	3	to	22	RHS:	Ã,	5	+	17	=	22	Ã	¢	LHS	=	RHS	It	is	therefore	verified.	Page	No.	143:	resolve	each	of	the	following	equations	and	check	the	answer	in	any	case:	2x-12	=	3	2x-12A	=	a	3	to	2x	-12	+	12	=	3	+	12Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	[added	12	on	Both	sides]	Ã	¢	2xa	=	6a	+	12	Ã	¢	¢
2x	=	72	Ã	¢	2x2a	=	Ã,	72a	Ãƒ	2a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	[dividing	both	sides	from	3]	Ã	¢	x	=	74	verification:	substituting,	x	=	74	thea	lhs:	274a	-ã,	12	=	Ã,	-ã,	72a	12ã,	Ã	,	=	62a	=	3a	=	ã,	RHS	LHS	=	R.H.S.	Then	verified.	Page	No.	143:	resolve	each	of	the
following	equations	and	check	the	answer	in	any	case:	3	(x	+	6)	=	24	3	(x	+	6)	=	24	3a	xa	+	3a	6ã,	=	Ã,	Ã,	ã,	24	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[on	the	expansion	of	parenthesis]	ã,	ã,	3x	+	18	=	24	to	3x	+	18	-	18	=	24	-	18ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	is,	[subtracting	18	on	both	sides]	Ã	¢	3x	=	6	Ã	¢	3x3ã,	=	Ã,	63a	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã,	Ã,	Ã,	Ã,	Ã,	[dividing	both	sides	from	3]	Ã	¢	x	=	2	verification:	replacing	x	=	2	in	the	lhs:	ã,	3	(2	+	6)	=	3	Ãƒ	8	=	24ã,	=	RHS	Ã,	LHS	=	R.H.S.	Then	verified.	Page	No.	143:	Solving	each	of	the	following	equations	and	check	the	answer	in	any	case:	6x	+	5	=	2x	+	17	6x	+	5	=	2x	+	17	to	6xa	-	2x	=	17	-	5Ã,	Ã,	Ã,
Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[transposition	2x	to	the	lhs	and	5	to	rhs]	Ã	¢	4x	=	12	A	=	4x4	Ã,	124A	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[dividing	both	sides	from	4]	Ã	¢	x	=	3	verification:	replacing	x	=	3	On	both	sides:	LHS:	6	(3)	+	5	=	18	+	5	=	23	RHS:	AA	2	(3)
+	17	=	6	+	17	=	23	LHS	=	RHS	Then	verified.	Page	No.	143:	resolve	each	of	the	following	equations	and	check	the	answer	in	any	case:	x4-8	=	1	x4-Ã,	8Ã,	=	to	1	to	x4-Ã,	Ã,	8a	+	8Ã,	=	ã,	1ã,	ã,	+	8Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	[added	8	on	both	sides]	Ã	¢	x4a	=	to	9	a	X4A	Ãƒ	Ã,	4ã,	=	9a	Ãƒ	Ã,	4ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	[multiply	both	sides	from	4]	or,	x	=	36	verification:	replacing	x	=	36	in	the	lhs:	o,	364a	-ã,	8	=	9	Ã	¢	8	=	1	=	RHS	LHS	=	R.H.S.	Then	verified.	Page	No.	143:	resolve	each	of	the	following	equations	and	check	the	answer	in	any	case:	x2	=	x3	+	1	=	x2a	ã,	x3a	+	to	1	x2a	-ã,	x3a	=	ã,	1ã,	Ã,	Ã,	ã,	ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[transposition	x3	to	the	lhs]	Ã	¢	3xa	-ã,	2x6ã,	=	to	1	a	=	x6a	ã,	1	Ã	¢	x6a	Ãƒ	6a	=	Ã,	1ã,	Ãƒ	6a	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[multiplying	both	sides	from	6]	or,	x	=	6	verification:	replacing	x	=	6	on	both	sides:	LHS:	62a	=	3	RHS:	63A	+	1	=	Ã,	Ã,	2	+	1
=	3	Ã,	LHS	=	RHS	Then	verified.	Page	No.	143:	resolve	each	of	the	following	and	check	the	answer	in	each	case:	3	(x	+	2)	Ã,	2	(x	¢	1)	=	7	3	(x	+	2)	Ã,	2	(x	¢	1)	=	7	Ã	¢	3a	xa	+	3a	2ã,	-Ã,	2nd	XA-2A	(-1)	Ã,	=	7a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	[on	the	parenthesis	extension]	or,	3x	+	6	-2x	+	2	=	7	or,	x	+	8	=	7	o,	x	+	8	-	8	=	7	-	8Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	[Subtracting	8	on	both	sides]	or,	x	=	-1	verification:	replacing	x	=	-1	in	the	lhs:	3	(-1	+	2)	-2	(-1-1)	or,	ã,	3	(1)	ã,	-2	(-2)	or,	3a	+	ã,	4ã,	=	7a	=	Ã,	RHS	LHS	=	R.H.S.	Then	verified.	Page	No.	143:	resolve	each	of	the	following	equations	and	check	the	answer	in	any	case:	5	(x-1)	2
(x	+	3)	+	6	=	0	to	5x	-5	+	2x	+	6	+	6	=	0	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	ã,	(expandable	inside	the	parentheses)	Ã	¢	7x	+7	=	0	Ã	¢	x	+	1	=	0	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	(dividend	for	7)	¢	x	=	-1	verification:	putting	x	=	-	1	in	the	lhs:	lhs:	5	(-1	-1)	+	2	(-1	+	3)	+	6	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Ã,	=	5	(-2)	+	2	(2)	+	6	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	=	-10	+	4	+	6Ã,	=	0	=	rhs	then,	verified.	Page	No.
143:	Solving	each	of	the	following	equations	and	check	the	answer	in	any	case:	6	(1	¢	4x)	+	7	(2	+	5x)	=	53	6	(1	¢	4x)	+	7	(2	+	5x)	=	53	o,	6a	Ãƒ	ã,	1ã,	-ã,	6ã,	Ãƒ	ã,	4xa	+	7a	Ãƒ	2a	+	7a	Ãƒ	Ã,	5xa	=	Ã,	53a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	[on	bracket	expansion]	or,	6	-	24x	+	14	+	35x	=	53	or,	11x	+	20	=	53	or,	11x	+	20	-	20	=	53	-	20	Ã,	Ã,	Ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[subtracting	20	on	both	sides]	o,	11x	=	33	o,	11x11	=	ã,	3311ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[dividing	both	sides	from	11]	or,	x	=	3	verification:	replacing	x	=	3	in
the	lhs:	6	(1a	-ã,	4bis	ã,	3)	a	+	a	7	(2a	+	5a	Ãƒ	ã,	3)	Ã	¢	6	(1a	-Ã	,	12)	Ã,	+	ã,	7	(2a	+	15)	to	6	(-11)	ã,	+	ã,	7	(17)	Ã	¢	-66Ã,	+	ã,	119a	a	=	a	=	53a	ã,	RHS	LHS	=	R.H.S.	Then	verified.	Page	No.	143:	Solving	each	of	the	following	equations	and	check	the	answer	in	any	case:	16	(3x	¢	5)	10	(4	times	to	8)	=	40	16	(3x	A	5)	Ã	¢	10	(4x	¢	8)	=	40	or	16a	Ãƒ	ã,	-ã,
3xa	16ã,	Ãƒ	5a	-10a	Ãƒ	ã,	-ã,	4xa	to	10	a	bis	(-8)	a	=	at	40Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	[on	the	parenthesis	extension]	or,	48x	-	80A	-	40x	+	80	=	40	or,	8xÃ,	=	40	or,	8x8	=	408a	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[dividing	both	sides	from	8]	or,
x	=	5	verification:	replacing	x	=	5	in	the	lhs:	16	(3a	5a	-ã,	5)	one	-a	10	(ã,	4bis	5a	-ã,	8)	to	16	(15a	-ã,	5)	one	-a	10	(20a	-ã,	8)	to	16	(10)	ã,	-10	(12)	Ã	¢	160a	-ã,	120ã,	Ã,	=	ã,	40ã,	Ã,	=	RHS	LHS	=	R.H.S.	Then	verified.	Page	No.	143:	resolve	each	of	the	following	equations	and	check	the	answer	in	any	case:	3	(x	+	6)	+	2	(x	+	3)	=	64	3	(x	+	6)	+	2	(x	+	3)
=	64	to	3	To	x	a	+	a	3	to	6	+	2	Ãƒ	xa	+	2	to	3	a	=	64	is,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	[on	brackets	extension]	Ã	¢	3x	+	18	+	Ã,	2x	+	6	=	64	Ã	¢	5x	+	24	=	64	Ã	¢	5x	+	24	-	24	=	64A	-	24	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Ã	,	[Subtracting	24	on	both	sides]	Ã	¢	5x	=	40	a	=	5x5ã,	ã,	405a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	[dividing	both	sides	from	5]	Ã	¢	x	=	8	verification:	Replacing	x	=	8	in	the	LHS:	3	(8A	+	Ã,	6)	A	+	A	2	(8A	+	ã,	3)	3	(14)	A	+	A	2	(11)	42a	+	22a	=	Ã,	64a	=	Ã,	RHS	LHS	=	R.H.S.	Then	verified.	Page	No.	143:	resolve	each
of	the	following	equations	and	check	the	answer	in	any	case:	3	(2	to	5x)	AA	2	(1	to	6x)	=	1	3	(2	to	5x)	Ã,	Ã,	2	(1	¢	6x)	=	1	or,	3	2a	+	3	a	(5x)	to	2	to	1,	at	2	a	(6x)	=	1	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	[on	the	expansion	of	the	parenthesis	]	o,	6	to	15x	AA	2	+	12x	=	1	o,	4	-	3x	=	1	o,	Ã,	3ã,	=	3xa	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	o,	x	=	1	verification:	replacing	x	=	1	in	the	lhs	:	3	(2a	-ã,	5ã,	Ãƒ	Ã,	1)	a	-a	2	(1a	-ã,	6ã,	to	1)	to	3	(2a	-ã,	5)	Ã,	-	ã,	2	(1a	6)	3	(	-3)	-2	Ã,	(-5)	Ã	¢	-9A	+	10	bis	=	Ã,	1ã,	Ã,	=	RHS	LHS	=	R.H.S.	Then	verified.	Page	No.	143:	resolve	each	of	the	following	equations	and	check	the	answer	in
any	case:	N4-5	=	N6	+	12	=	N4-5Ã,	Ã,	Ã,	N6A	+	12	or,	[Transpose	n	/	6	to	L.H.S.	and	5	to	RHS]	or,	3n-2n12Ã	=	A	+	1	or	102,	112	or	n12Ã	=	Ã,	n12Ã	12A	=	12A	112A	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[dividing	both	sides	by	12]	or,	n	=	66	occurs:	Substituting	n	=	66	on	both	sides:	LHS:	664-5Ã	=	332A	-a	5A	to	33A	-
a	=	102A	=	232A	=	Ã	RHS	232A:	666	+	12	=	Ã	Ã	Ã	11A	+	12A	=	22	+	12	=	Ã	232A	LHS	=	RHS	Then	verified.	Page	#	143:	solve	each	of	the	following	equations	and	verify	the	response	in	each	case:	2m3	+	8	=	m2-1	2m3Ã	Ã	+	Ã	Ã	8A	m2a	=	1	or,	2m3Ã	-A	Ã	M2A	=	-1	8A	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Transpose	m	/	2	to	8	to	the	LHS	and
RHS]	or,	Ã	4m-3m6Ã	-9or	=	Ã,	Ã	Ã	M6A	=	-9	or,	M6A	6A	6A	-9A	=	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Multiply	both	sides	by	6]	or,	m	=	-54	verification:	Substituting	x	=	Ã	¢	54	on	both	sides:	LHS:	Ã	2	(-54)	3a	+	Ã	Ã	Ã	Ã	8A	=	-542-1	=	-1083Ã	+	8A	Ã	Ã	=	-36	+	8A	=	Ã	Ã	-28Ã	RHS:	-542-1Ã	=	a	-27Ã	Ã	-a	1	=	-28	LHS	=	RHS	Then
verified.	Page	#	143:	solve	each	of	the	following	equations	and	verify	the	response	in	each	case:	2x5-32	=	x2	+	1	=	2x5Ã	-32Ã	Ã	Ã	X2a	+	1	or,	2x5Ã	X2a	=	a	1	+	a	32A	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Transpose	x	/	2	to	LHS	and	RHS	3/2]	or,	4x-Ã	Ã	2	=	5x10	+	32or,	Ã	Ã	-x10Ã	=	52	or,	Ã	-X10	(-10)	=	Ã	Ã	52A	(-10	)	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã
Ã	Ã	[Multiply	both	sides	by	a	10]	or,	x	=	25	occurs:	Substituting	x	=	Ã	¢	25	on	both	sides:	LHS:	Ã	2	(-25)	5A	-	32A	=	Ã	Ã	Ã	=	-a	-505Ã	32A	to	32A	-10A	-a	=	-232R	.hs:	Ã	Ã	-252	+	1	=	a	-25Ã	+	22a	=	-232	to	LHS	=	RHS	Then	verified.	Page	#	143:	solve	each	of	the	following	equations	and	verify	the	response	in	each	case:	x-35-2	=	2x5	x-35A	-A	A	2A	=
2x5Ã	or,	x5-35A	-2A	=	Ã	2x5	or,	-A	35	-A	Ã	2a	=	2x5-X5a	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Transpose	x	/	5	to	RHS]	or,	-3-105A	Ã	=	Ã	or	x5,	x5	or	-135Ã	=	Ã,	-135	(5)	Ã	X5a	=	Ã	(5)	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[multiplying	both	sides	by	5]	or,	x	=	Ã	¢	13	verification:	Substituting	x	=	Ã	¢	13	on	both	sides:	LHS:	Ã	-A	-A	13A	35A	-165Ã	2a	=	-a	2
=	-a	-16Ã	105A	Ã	=	Ã	-265R.HS:	2A	(-13)	5A	A	=	A	-265Ã	Ã	LHS	=	RHS	Then	verified.	Page	#	143:	solve	each	of	the	following	equations	and	verify	the	response	in	each	case:	3x10-4	=	14	3x10Ã	-a	=	4A	or	14A,	3x10Ã	4A	A	+	A	=	4	Ã	Ã	14A	+	4A	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Addition	4	on	both	sides]	or,	3x10Ã	=	Ã	or	18,	3x10Ã	to	10	=
18a	10a	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Multiply	both	sides	by	10]	or,	3xA	=	180	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	or,	3x3Ã	1803Ã	=	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[dividing	both	sides	by	3]	or,	x	=	60	occurs:	Substituting	x	=	60	on	both	sides:	3A	4A	6010A	-a	-a	=	18010Ã	4A	=	-a	4A	18a	=	14a	=	Ã	RHS	LHS	=	R.H.S.	Then
verified.	Page	#	143:	solve	each	of	the	following	equations	and	verify	the	response	in	each	case:	34A	(XA	1	-A)	A	=	A	XA	-a	3	=	34x-1a	Ã	Ã	Ã	-A	XA	3	Ã	XA	34a	-	34a	A	1	=	-A	Ã	xa	3a	A	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[	extension	brackets]	3x4-34a	Ã	¢	Ã	Ã	Xa	=	-a	3a	A	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	-3.alpha	3x4-Xa	=	34	+	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã
Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[x	Transposition	of	the	LHS	and	RHS	to	-34]	Ã	¢	Ã	Ã	3x-4x4	=	-12	+	34	-x4Ã	=	¢	Ã	Ã	Ã	Ã	¢	-94	-x4Ã	4A-4A	-94Ã	=	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Multiply	both	sides	by	-4]	o,	x	=	9	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	verification:	Substituting	x	=	9	on	both	sides:	LHSA:	Ã	=	Ã	349-1Ã	34	(8)	Ã	=	Ã
6a	RHS:	9a	-A	Ã	3a	=	6	LHS	=	RHS	Then	verified.	Page	144	No:	9	if	a	certain	number,	the	result	is	added	is	36.	Find	the	number.	Let	the	number	requested	is	X.	According	to	the	question:	9	+	x	=	36	or	x	+	9-9	=	36	-	9a	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Subtract	9	from	both	sides]	o,	x	=	27	So,	the	number	is	27.	Page	144	No:	if	11	is
subtracted	from	the	number	4	times	,	the	result	is	89.	Find	the	number.	Let	the	required	number	x.	According	to	the	4xa	-11	=	89	O,	4x	-	11	11	=	89	+	11a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã	,	Ã,	Ã,	ã,	ã,	[add	11	on	both	sides]	o,	4x	=	100	or,	4x4ã,	=	ã,	1004a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	ã,	is,	Ã,	[dividing	both	sides	from	4]	or,	x	=	25	so,	the	number	is	25.	Page	144	no:	find	a	number	that	multiplied	by	5	is	increased	by	80.	Let	the	number	requested	is	X.	According	to	the	question:	O,	5x	=	x	+	80	o,	5x	-	x	=	80	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã,	Ã,	Ã	Ã,	Ã,	Ã,	ã,	Ã,	[transposition	x	to	the	lhs]	or,	4x	=	80	o,	4x4ã,	=	Ã,	804a	Ã,	Ã,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	Ã,	[dividend	both	sides	from	4]	or,	x	=	20	so,	the	number	is	20.	Page	144	No:	the	sum	of	the	three	consecutive	natural	numbers	is	114.	Find	the	numbers.	Allow	the	three	consecutive	natural	numbers	to	be	X,	(x	+	1)	(x	+	2).	According	to	the	question:	x	+	(x	+	1)	+
(x	+	2)	=	114	or,	x	+	x	+	1	+	x	+	2	=	114	or,	3x	+	3	=	114	or,	3x	+	3	-	3	=	114	-	3	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	[subtracting	3	on	both	sides]	or,	3x	=	111	O,	3x3Ã,	=	Ã,	1113Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	is	[dividing	both	sides	from	3]	or,	x	=	37	numbers	requested	are:	x
=	37	or,	x	+	1	=	37	+	1	=	38	or,	x	2	=	37	+	+	2	=	39	so,	the	numbers	required	are	37,	38	and	39.	Page	144	No:	when	Raju	multiplies	a	certain	number	of	17	and	adds	4	to	the	product,	gets	225.	Find	that	number.	Let	the	number	requested	is	X.	When	Raju	multiplies	with	17,	the	number	becomes	17x.	According	to	the	question:	17x	+	4	=	225	O,	17x
+	4-4	=	225	-	4Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[subtracting	4	from	both	sides]	or,	17x	=	221	or,	17x17ã,	=	ã,	22117Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[dividing	both	sides	from	17]	or,	x	=	13	so,	the	requested	number	is	13.	Page	144	no:	if	a	number
is	tripled	e	The	result	is	increased	by	5,	we	get	50.	Find	the	number.	Let	the	number	requested	is	X.	According	to	the	question,	the	number	is	tripled	and	5	adds	to	it	a	'3x	+	5	or,	3xa	+	5	=	50	or,	3x	+	5-5	=	50ã,	-	5ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	[subtracting	5	on	both	sides]	or,	3x	=	45	or,	3x3	,	=	453Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	ã,	[dividing	both	sides	from	3]	or,	x	=	15	therefore,	the	requested	number	is	15.	Page	No.	144:	find	two	numbers	such	that	one	of	them	exceeds	the	other	from	18	and	Their	sum	is	92.	Let	one	of	the	number	be	x.	To	'the	other	number	=	(x	+	18)	according	to	the	question:	x	+	(x	+	18)	=	92	or,	2x	+	18	-	18
=	92-18	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[subtracting	18	from	both	sides]	or,	2x	=	74	or,	2x2a	=	Ã	,	742Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã	ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[dividing	both	sides	from	2]	or,	x	=	37	numbers	required	I	am:	x	=	37	or,	x	+	18	=	37	+	18	=	55	Page	No.
144:	one	in	two	numbers	is	three	times	the	other.	If	their	sum	is	124,	find	the	numbers.	Let	one	of	the	number	to	be	'x'	a	second	number	=	3x	according	to	the	question:	x	+	3x	=	124	o,	4xa	=	124	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	o,	4x4ã,	=	Ã,	1244Ã,	Ã,	Ã,	Ã,	Ã	ã,	ã,	is,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[dividing	both
sides	from	4]	or,	x	=	31	therefore,	the	requested	number	is	x	=	31	and	3x	=	3a	31	=	93.	Page	144	No:	find	two	numbers	such	that	one	of	them	is	five	times	the	other	and	their	difference	is	132.	Let	one	of	the	numbers	X	be.	Second	number	a	'=	5x	according	to	the	question:	5xa	-	x	=	132	o,	4x	=	132	o,	4x4ã,	=	ã,	1324Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[dividing	both	sides	from	4]	or,	x	=	33	so,	the	requested	numbers	are	x	=	33	and	5x	=	5a	33	=	165.	Page	No.	144:	The	sum	of	two	consecutive	numbers	is	74.	The	numbers.	Let	one	of	the	number	even	being	X.	Then,	the	other	same	consecutive	number	is	(x	+	2).	According	to	the	question:	x	+	(x	+	2)	Ã,	=	74	or,	2x	+	2a	=	74
or,	2x	+	2	-	2	=	74	-	2a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	[	By	subtracting	2	on	both	sides]	or,	2x	=	72	or,	Ã,	ã,	[dividing	both	sides	from	2]	or,	x	=	36	therefore,	the	requested	numbers	are	x	=	36	ex	+	2	=	38.	Page	No.	144:	the	sum	of	the	three	consecutive	odd	numbers	is	21.	The	numbers	.	Let	the	first	odd	number	is	X.	Then,	the	next	consecutive	odd	numbers	will
be	(x	+	2)	and	(x	+	4).	According	to	the	question:	x	+	(x	+	2)	+	(x	+	4)	a	=	21	or,	3x	+	6Ã,	=	21	or,	3x	+	6-6	=	21-6	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	[subtraction	6	on	both	sides]	o,	3x	=	15	o,	3x3ã,	=	ã,	153a	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[dividing	both	sides	from	3]	or,	x	numbers	=	5	to	'requests	are:	x	=	5	x	+	2	=	5	+	2	=	7	x	+	4	=	5
+	4	=	9	Page	No	144:	Reena	is	6	years	older	than	her	brother	Ajay.	If	the	sum	of	their	age	is	28	years,	what	are	their	current	ages?	Let	the	current	age	of	Ajay	be	x	years	old.	Since	Reena	is	6	years	more	than	Ajay,	the	current	age	of	Reena	will	be	(X	+	6).	According	to	the	question:	X	+	(x	+	6)	=	28	or,	2x	+	6	=	28	or,	2x	+	6-6	=	28-6	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	[subtracting	6	on	both	sides]	or,	2x	=	22	o,	2x2a	=	ã,	222a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	[dividing	both	sides	from	2]	or,	x	=	11	A	'Current	Ajay	Etã	=	11	years	of	current	age	of	reenaÃÃ,	=	x	6	=	11	+	6	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	=	17	years	Page	No.	144:	Deepak	is	twice	more	Old	as	his	brother	Vikas.	If	the	difference	of	their	age	of	11,	find	their	current	ages.	Let	the	current	age	of	Vikas	to	be	x	years.	Since	Deepak	is	twice	as	old	as	Vikas,	the	current	Deepak	eth	will	be	2x	years.	According	to	the	question:	2x	-	x	=	11	x	11	=	A	'current	Vikas	etã	=	11	years	present	at
Deepakã'è,	=	2x	=	2a	11	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	ã	,	=	22	years	Page	No.	144:	Mrs.	Goel	is	27	years	older	than	her	daughter	Rekha.	After	8	years	she	will	be	twice	older	than	Rekha.	Find	their	actual	ages.	Let	the	current	age	of	Rekha	be	for	years.	Like	Mrs.	Goel	is	27	years	older	than
Rekha,	the	current	ages	of	Mrs.	Goel	will	be	(x	+	27)	years.	After	8	years:	the	age	of	rekha	=	(x	+	8)	years	of	age	of	Mrs.	Goel	=	(x	+	27	+	8)	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	=	(x	+	35)	years	according	to	the	question:	(x	+	35)	=	2	(x	+	8)	or,	x	+	35	=	2nd	x	+	2a	8ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	[on	expansion	the	brackets]
or,	x	+	35	=	2x	+	16	o	,	35	-	16	=	2X	-	X	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[Receptions	16	to	the	former	LHS	al]	RHS	o,	x	=	19	A	'current	age	of	rekha	=	age	19	years	old	present	of	lady	goel	=	x	+	27	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	=	19	+	27	Ã,	Ã,	Ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	=	46	years	Page	No.	145:	A	man	is	4	times	the	age	of	his	son.	After	16	years	he	will	only	be	old	as	he	son	of	him	twice.	Find	their	actual	ages.	Let	the	current	age	of	the	son	is	x	years	old.	While	man	is	4	times	older	as	son	of	him,	the	current	man's	age	will	be	(4x).	After	16:	AGEA	of	the	Son	=
(X	+	16)	years	of	Man	EtÃ	=	(4x	+	16)	years	according	to	the	question:	(4x	+	16)	=	2	(x	+	16)	or,	4x	+	16	=	2a	x	+	2a	16	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[on	the	expansion	of	parenthesis]	or,	4x	+	16	=	2x	+	32	or,	4x	-	2x	=	32	-	16	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[transposition	16	to	rhs	and	2x	to	the	lhs]	or,	2x	=	16	or,	2x2a	=	Ã,	162a	Ã,	Ã,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã,	Ã,	[dividing	both	sides	from	2]	or,	x	=	8	at	the	current	age	of	the	child	=	8	years	of	current	ages	of	mana	=	4x	=	4a	8	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã,	Ã,	Ã,	=	32	years	Page	No.	145:	A	man	is	three	times	older	as	his	son.	Five	years	ago,
the	man	was	four	times	older	as	his	son.	Find	their	actual	ages.	Let	the	current	age	of	the	son	is	x	years	old.	While	man	is	3	times	older	as	son	of	him,	the	current	man's	age	will	be	(3x).	5	years	ago:	the	son's	age	=	(x	-	5)	years	of	man	etÃ	=	(3x	-	5)	years	according	to	the	question:	(3x	-	5)	=	4	(x	-	5)	or,	3x	-	5	=	4	bis	X	-	5	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	[on	expanding	the	parentheses]	or,	3x	-	5	=	4x	4x	20	or	20a	-	5	=	4x	-	3x	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Transpose	3x	to	R.H.S.	and	20	to	LHS]	o,	x	=	15	A	'actual	age	of	the	child	=	15	years	of	current	mana	age	=	3x	=	15	3A	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	=	45	years	No	Page	145:	After	16	years,	Fatima
will	be	three	times	as	old	as	she	is	now.	She	is	his	current	age.	Let	the	current	Fatima	age	is	x	years.	After	16	years:	the	age	of	Fatima	=	(x	+	16)	years	According	to	the	request:	x	+	16	=	3	(x)	or,	3x	=	16	-	x	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Transpose	x	for	RHS]	or,	16	=	2x	or,	2x2A	=	162A	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Dividing	both	sides	by	2]	or,	x	=	8
¢	Ã	'current	age	=	8	years	of	Fatima	Page	#	145:	After	32	years,	Rahim	will	be	5	times	as	old	as	it	was	8	years	ago	.	How	old	Rahim	today?	Let	the	current	age	of	Rahim	to	be	x	years.	After	32	years:	the	age	of	Rahim	=	(x	+	32)	years,	eight	years	ago,	the	age	of	Rahim	=	(x	-	8)	years	According	to	the	request:	x	+	32	=	5	(x	-	8)	or	x	+	32A	=	5x	-	5A	8	Ã
Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	o,	x	+	32	=	5x	-	or	40,	40	+	32	=	5x	-	Xa	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Transpose	'x'	at	RHS	and	40	the	LHS]	or,	or	4x	=	72,	724a	4x4Ã	=	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[dividing	both	sides	by	4]	or,	x	=	18	Therefore,	the	present	age	of	Rahim	is	18	years.	Page	#	145:	A	bag	contains	25-
Paisa	and	50	paisa	coins	whose	total	value	is	Rs	30.	If	the	number	of	25-Paisa	coins	is	four	times	that	of	coins	50-Paisa,	find	the	number	of	each	type	of	coins.	Let	the	number	of	50	paisa	coins	to	be	x.	So,	the	number	of	25	paisa	coins	will	be	4x.	According	to	the	request:	0.50	(x)	+	0.25	(4x)	or	=	30,	x	=	30	+	0.5x	or	1.5x	=	30	or,	1.5x1.5Ã	301.5Ã	=	Ã	Ã
Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Dividing	both	sides	by	1.5]	o,	x	=	20	So,	the	number	of	coins	is	20.	50	Paisa	number	of	coins	25	paisa	=	4x	=	20	=	80	Page	4A	#	145:	five	times	the	price	of	a	pen	is	Rs	17	more	than	three	times	the	price.	Find	the	price	of	the	pen.	Let	the	price	of	a	pen	to	be	Rs	x.	According	to	the	question:	5x	+	17	=	3x	or	5x	-	3x	=	17A	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã
Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	It	[Transpose	3x	the	LHS]	or	2x	=	17,	or	2x2A	=	172A	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[Dividing	both	sides	by	2]	or,	x	=	8.50	to	'price	of	a	pen	=	Rs	8:50	Page	#	145:	the	number	of	children	in	a	school	is	more	334	than	the	number	of	girls.	If	the	total	strength	of	the	school	is	572,	find	the	number	of	girls	in	school.	Let	the
number	of	girls	in	school	to	be	X.	So,	the	number	of	boys	in	the	school	will	be	(x	+	334).	total	strength	of	the	school	=	572	A	'+	x	(x	+	334)	=	572	or	334	=	572	+	2x	or	2x	+	334-334	=	572	-	334th	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	{subtracting	334	from	both	sides]	or	2x	=	238,	or	2x2A	=	2382Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã
Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[dividing	both	sides	by	2]	or,	x	=	119	'Number	of	girls	in	the	school	=	119	Page	#	145:	the	length	of	a	rectangular	park	is	three	times	its	breadth.	If	the	perimeter	of	the	park	is	168	meters,	funding	for	its	size.	Let	the	amplitude	of	the	park	is	x	meters.	So,	the	length	of	the	park	will	be	3x	meters.	Perimeter	of	the	park	=	2	(length	+
width)	=	2	(3x	+	x)	m	given	perimeter	=	168	m	A	'2	(3x	+	x)	=	168	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	or	2	(4x)	=	168	or,	8x	=	168	You	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[extension	brackets]	or	8x8Ã	1688Ã	=	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	[both	sides	Dividend	8]
or,	x	=	21	but	'Width	of	the	park	=	x	=	21	m	length	of	the	park	=	3x	3A	=	21	=	63	m	Page	#	145:	the	length	of	a	rectangular	room	is	5	meters	beyond	its	amplitude	.	If	the	perimeter	of	the	hall	is	74	meters,	find	its	length	and	width.	Let	the	width	of	the	room	is	x	meters.	Thus,	the	length	of	the	room	will	be	(x	+	5)	meters.	Perimeter	of	room	2	(length	+
width)	=	2	(x	+	5	+	x)	meters	Data	perimeter	of	the	Hall	=	74	metri	Ã	¢	2	(x	+	x	+	5)	=	74	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	«)	=	74	o,	-2x	2	+	2	=	74	-5	Ã	¢	a	a	a	a	a	a	a	a	a	a	«]	o,	4x	+	10	=	74	o,	4x	+	10	-	10	=	74	-	10	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	Â	«from	64,	4x4Ã	Ã	¢	=	a	a	a	a	a	a
a	a	a	a	a	a	a	a	a	a	a	a	«x	=	16	metri	Ã	¢	'arth	of	the	park	x	=	Ã	¢	Ã	¢	Ã	¢	a	a	a	a	¢	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	Â	«del	parco	=	x	+	5	+	5	=	16	a	a	a	a	a	a	a	a	A	a	a	a	a	a	a	=	21	metri	145	N.	Pagina:	Un	Filo	di	lunghezza	86	cm	piegato	sotto	forma	di	un	rettangolo	in	Modo	che	la	Sua	lunghezza	six	di	7	cm	piÃ¹	della	Sua	larghezza.	A	la
Trova	lunghezza	l'ampiezza	rettangolo	cosÃ¬	del	formato.	Lascia	che	l'ampiezza	del	rettangolo	six	x	cm.	Quindi,	la	del	lunghezza	rettangolo	Sara	(x	+	7)	cm.	Perimetro	del	rettangolo	=	2	(lunghezza	larghezza	+)	=	2	(x	+	x	+	7)	cm	Dato	perimetro	rettangolo	del	Filo	del	lunghezza	=	=	86	cm	Ã	¢	2	(x	+	x	+	7)	=	86	a	a	a	a	a	a	a	a	a	a	a	a	a	a	o,	2	(2x	+	7)
=	86	o,	2x	2	+	2	=	7	86	a	a	a	a	a	a	a	a	a	a	a	a	a	a	study	[by	sull'espansione	parentesi]	o,	4x	+	14	=	86	o,	4x	+	14	-	14	=	86-	14	a	a	a	a	a	a	a	a	«two	sottraendo	14	entrambi	she	lati]	o,	o	4x	=	72,	4x4	=	ã	a	a	a	a	a	a	a	a	»a	a	a	a	a	a	a	a	a	a	a	a	Â	«Dividendo	per	4	su	entrambi	she	lati]	o,	x	=	18	metri	di	sala	della	larghezza	x	=	Ã	¢	Ã	Ã	¢	a	a	a	a	a	a	a	a	a	a	a	a
ã	=	18	metri	di	lunghezza	del	corridoio	=	x	+	7	a	a	a	a	a	a	a	a	a	a	a	a	a	a	+	7	=	18	a	a	a	a	a	a	a	a	a	a	A	a	a	a	=	25	metri	pagina	No	146:	Un	uomo	guadagna	RS	25	all'ora.	Quanto	guadagna	in	Ore	x?	Guadaglio	dell'uomo	all'ora	RS	=	25	Guadatura	dell'uomo	in	Ore	X	=	RS	(25-	x)	a	a	a	a	a	a	A	Â	«a	a	a	a	a	a	a	a	a	=	RS	146	N.	25x	Pagina:	il	costo	di	penna
1	to	RS	16	is	il	costo	di	matita	1	of	the	RS	5.	Qual	il	costo	totale	di	penne	x	ey	matite.	Costo	di	penna	1	=	RS	16	costo	di	'x'	penne	RS	=	16	Ã	¢	Ã	¢	Ã	¢	Ã	a	a	a	a	a	a	a	a	«16x	Analogamente,	costo	di	matita	1	=	RS	5	¢	Ã	'costo	Dell'	matite	y	=	y	RS	5A	out	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	"RS	5Y	the	costo	totale	di	penne	Pens	x	=	ey	matite	RS	(16x	+	5Y)
Pagina	n.	146:	Lalit	guadagna	RS	x	al	giorno	a	spende	RS	Y	al	giorno.	Quanto	salva	in	30	giorni?	Il	guadagno	al	di	Lalit	giorno	X'Ã	RS	=	¢	'Lalit's	Guadacning	in	30	giorni	=	RS	30	a	a	a	a	a	a	a	a	a	a	a	a	«a	a	a	a	a	a	=	RS	30x	Allo	stesso	Modo,	la	di	Lalit	al	spesa	giorno	=	RS	ya	'spesa	la	di	30	giorni	Lalit	internal	=	30	RS	ay	out	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a
a	a	a	a	a	a	a	a	a	study	RS	=	30Y	A	In	30	giorni,	Lalit	salva	=	(totale	guadagni	-	spesa	totale)	a	a	a	a	a	a	A	a	a	a	a	a	a	a	a	a	a	a	a	a	A	=	RS	(30x	-	30Y)	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	a	=	RS	30	(x	-	y)	Pagina	No	146:	Tre	volte	Numero	Un	aggiunto	two	8	20.	Trova	il	Numero.	Lascia	che	il	Numero	richiesto	six	x.	Tre	volte	questo	Numero	to	3x.
All'aggiunta	8,	diventa	il	Numero	8.	3x	+	3x	+	8	=	20	o,	3x	+	8	-	8	=	20	-	8	a	a	a	a	a	a	a	«,	3x	=	12	o,	3x3Ã	¢	=	a	a	a	a	a	a	a	a	a	a	Â	«the	Numero	richiesto	Pagina	n	=	4.	146:	is	x	=	1,	y	=	z	=	2	is	3,	trova	il	valore	di	x2	+	y2	+	2xyz.	Proposta:	1	x	=	y	=	z	=	2	3	Sostituendo	x	=	1,	y	=	2	=	3	EZ	nell'equazione	proposta	(x2	+	y2	+	2xyz):	12a	+	22a	+	Ã	Ã	¢
2123Ã	1A	+	Ã	4A	+	12	=	ã	ã	Pagina	17	n.	146:	4x	+	9	=	17	o,	4x	+	9	-	9	=	17	-	out	a	a	a	a	a	a	a	a	a	«9	Sottraendo	two	entrambi	she	o,	4x	=	8	o,	4x4ã,	=	Ã,	84a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	is,	[dividing	both	sides	with	4	]	o,	x	=	2	page	#	146:	solve:	3	(x	+	2)	a	2	(x	Ã	¢	1)	=	7.	3	(x
+	2)	a	2	(x	Ã	¢	1)	=	7.	o,	3a	A	ã,	xa	+	ã,	3a	2a	-ã,	2a	to	ã,	-ã,	xa	2a	a	ã,	(-1)	ã,	=	7a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[on	the	parenthesi	extension]	or,	3x	+	6	Ã	¢	2x	+	2	=	7	or	x	+	8	=	7	or,	x	+	8	Ã	¢	8	=	7	Ã	¢	8Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[subtracting	8	on	both	sides]	or,	x
=	to	1	page	no	146:	2x5ã,	-	x2ã,	=	a	52	or,	4xa	-ã,	Ã,	5x10ã,	=	52a	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[taking	the	lcm	as	10]	or,	-x10ã,	=	ã,	52	or,	-x10Ãƒ	-10a	=	Ã	,	52A	-10A	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã,	[multiply	both	to	sides	from	(to	10)]	or,	x	=	to	25	page	#	146:	the	Sum	of
the	three	consecutive	natural	numbers	is	51.	Find	the	numbers.	Allow	the	three	consecutive	natural	numbers	to	be	X,	(x	+	1)	and	(x	+	2).	Ã	¢	'x	+	(x	+	1)	+	(x	+	2)	=	51	3x	+	3	=	51	3x	+	3	-	3	=	51	-	3	to	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[subtracting	3	on	both	sides]	3x	=	48	3x3ã,	=	ã,	483Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	is,	[dividing	both	sides	from	3	]	x	=	16	so,	the	three	natural	numbers	are	x	=	16,	x	+	1	=	17	ex	+	2	=	18.	Page	146	no:	after	16	years,	Seema	will	be	three	times	older	as	you	are	now.	Find	its	current	ages.	Let	the	current	SEEMA	ages	to	be	years.	After	16:	the	SEEMA	age	=	x	+	16	after	16	years,	his	age	becomes	three	times	his
age	now	a	'x	+	16	=	3x	or,	16	=	3x	-	x	Ã,	Ã,	ã,	ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[transposition	x	to	rhs]	or,	2x	=	16	o,	2x2a	=	Ã,	162a	ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[dividing	both	sides	from	2]	or,	x	=	8	Years	Page	No	146:	How	much	do	I	do	not	exceed	2x	Ã	¢	3y	to	4?	(A)	2x	Ã	¢	3Y	Ã	¢	5	(b)	2	at	3Y	Ã	¢	3	(c)	5	Ã	¢	2x	+
3Y	(D)	none	of	these	(c)	5	Ã	¢	2x	+	3Y	1	exceeds	2x	Ã	¢	3Y	Ã	¢	4.	'1	-	(2	at	3Y	Ã	¢	4)	=	1	+	-2x	3Y	+	4	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	=	5	-	2x	+	3Y	Ã	¢	'1	exceeds	2	at	3y	Ã	¢	4	from	5	-	2x	+	3Y.	Page	No.	146:	What	needs	to	be	added	to	5x3	Ã	¢	2x2	+	6x	+	7	to	make	the	sum	X3	+	3x2	Ã	¢	x	+	1?	(A)	4x3	Ã	¢
5x2	+	7x	+	6	(b)	Ã	¢	4x3	+	5x2	Ã	¢	7x	Ã	¢	6	(c)	4x3	+	5x2	Ã	¢	7x	+	6	(d)	none	of	these	ã,	(b)	Ã	¢	4x3	+	5x2	Ã	¢	7x	Ã	¢	6	To	find	this	must	be	added,	it	is	subtracted	(5x3	Ã	¢	2x2	+	6x	+	7)	from	(x3	+	3x2	Ã	¢	x	+	1).	Ã,	Ã,	ã,	(x3	+	3x2	Ã	¢	x	+	1)	ã,	(5x3	Ã	¢	2x2	+	6x	+	7)	or,	ã,	x3	+	3x2	Ã	¢	x	+	1	Ã	¢	5x3ã,	+	2x2	Ã	¢	6x	a	7	or,	Ã,	ã,	x3	5x3	+	3x2	+	2x2a	x
Ã	¢	6x	+	1	a	7	or,	4x3	+	5x2	Ã,	Ã,	ã,	7x	6	Page	No.	146:	2x	Ã	¢	[3Y	A	{2x	A	(Yax	)}]	=?	(A)	5x	Ã	¢	4y	(b)	4y	Ã	¢	5x	(c)	5y	Ã	¢	4x	(d)	4	times	to	5y	(a)	5x	Ã	¢	4y	2x	Ã	¢	[Ã	¢	3Y	{2x	Ã	¢	(y	Ã	¢	x)}]	=	2x	Ã	¢	[3Y	Ã	¢	{2	to	Ã,	y	+	x}]	=	2x	Ã	¢	[3Y	Ã	¢	{3x	Ã	¢	Ã,	y}]	=	2x	ã,	ã,	[3Y	ã,	Ã	,	3x	+	y]	=	2x	Ã,	Ã,	[4y	ã,	ã,	3x]	=	2x	Ã,	Ã,	4y	+	3x	=	5x	ã,	Ã,	4y	page	no	146:
the	coefficient	of	x	in	a	5xyz	is	(a	)	Ã	¢	5	(b)	5YZ	(c)	Ã	¢	5YZ	(D)	YZ	(C)	Ã	¢	5YZ	All	terms	of	an	expression	5xyz	blocking	x	will	be	the	coefficient	of	x,	ie	a	5YZ.	Page	No	146:	13	(XA	+	7A	+	Ã,	Z)	is	a	(a)	monomium	(b)	binomial	(c)	trinomio	(d)	quadrinomial	(b)	trinomial	as	it	contains	three	variables,	ie	'x',	'Y'	and	'z',	it's	a	trinomio.	Page	No	146:	if	x5	=	1,
then	(a)	x	=	15	(b)	x	=	5	(c)	x	=	(5	+	1)	(d)	none	of	these	(b)	x	=	5	x5a	=	ã,	1	O,	Ã,	x5a	Ãƒ	ã,	5	=	Ã,	1ã,	Ãƒ	5a	Ã,	Ã,	[multiplying,	botha	thea	sidesÃ,	bya	5]	o,	x	=	5	Page	No.	146:	if	x	=	1,	y	=	2	EZ	=	3	then	(x2	+	y2	+	z2)	=?	(A)	6	(b)	12	(c)	14	(d),	15	(c)	14	replacing	x	=	1,	y	=	2	ez	=	3	(x2	+	y2	+	z2):	12a	ã,	+	ã,	22a	+	ã,	32	or,	1	+	4	+	9	=	14	Page	No.
146:	SE	13A	XA	+	5A	=	Ã,	8,	then	x	=?	(A)	3	(b)	6	(c)	9	(d)	12	(c)	9	13xÃ,	+	5a	=	Ã,	8	or,	13x,	+	5a	-ã,	5ã,	=	Ã,	8-5ã,	ã,	ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,	Ã,	Ã,	Ã,	Ã,	ã,	[subtracting	5	from	both	sides]	or,	13x,	=	ã,	3	or	13x,	Ãƒ	3a	=	ã,	3a	3a	Ã,	Ã,	Ã,	Ã,	ã,	ã,	Ã,	ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	is,
Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	ã,	Both	sides	3]	or,	x	=	9	page	n.	146:	Fill	the	empty	spaces.	(i)	an	expression	that	has	a	term	is	called	a	......	(ii)	an	expression	with	two	maintors	is	called	......	(i)	an	expression	with	three	maintors	is	called	......	(iv)	3xÃ	¢	-5Ã	¢	=	Ã,	7ã,	Ã,	Ã,	Ã,	Ã,	Ã,	xÃ	¢	=	Ã,	......	ã	,.	(v)	(B2Ã,-A2)	Ã	¢	Ã	¢	Ã	¢	(A2Ã	¢	-B2)	Ã	¢	=	Ã	¢	......	Ã	,.	(I)	monomy	(ii)
binomial	(iii)	trinomio	(iv)	x	=	3	3x	-	5	=	7	-	xo,	3x	+	x	=	7	+	5	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	[transposition	x	to	the	lhs	and	5	to	rhs]	or,	4x	=	12	or,	4x4Ã	¢	=	ã,	124	or,	x	=	3	(v)	2b2	-	2A2	O,	B2	-	A2	-	A2	+	B2	O,	2B2	-	2A2	(B2Ã,	A2)	Ã,'Ã	¢	(A2Ã,	Ã,	B2)	(B2Ã,	A2)	Ã,	â	€	"(A2Ã,	Ã,	B2	(B2Ã,	A2)	Ã	¢	'Ã	¢	(A2	Ã,'	Ã	¢	(A2	Ã,	'Ã,	B2)	(B2Ã,	A2)	Ã,
â	€	"(A2Ã,	Ã,	B2)	Page	No	147:	Write'	to	true	and	'F	false	for	each	of	the	statements	provided	below:	(i)	Ã,	'3xy2z	is	a	monomial.	(ii)	x	=	23	is	2x	+	5	=	8.	(iii)	2x	+	3	=	5	is	a	linear	equation.	(	Iv)	The	X	in	5xy	coefficient	is	5.	(V)	8Ã	¢	Ã	¢	x	=	Ã,	5	Ã	¢	â	€	¢	Ã	¢	xÃ	¢	=	Ã,	3.	(s)	true	since	it	has	a	term,	Is	a	monomial.	(Ii)	fake	2x	+	5	=	8	o,	2x	+	5	-	5	=	8	-	5
Ã	¢	Ã	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã	,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	Ã,	«subtracting	5	on	both	sides]	or,	2x	=	3	or,	x	=	3	/	2	and	not	x	=	2/3	(iii)	True	is	true	because	the	maximum	power	of	the	variable	X	is	1.	(i	v)	False	the	X	coefficient	in	5xy	would	be	5	years	old.	(v)	true	ã,	Ã,	'x	=	5	Ã	¢	or,	8	ã,'	5	=	x	Ã,	Ã,	o,	3	=	xx	
simple	linear	equations	worksheet	for	class	6.	linear	equations	in	one	variable	worksheet	for	class	6
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